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The ratio between the monthly income and
the expenditure of Vaidic is 8 : 5. If his
income increases by 20% and his
expenditure increases by 30%, then find the
percentage increases or decreases in his
monthly savings.

e &t AT ST S =T o 1= T AT 8:
5 gl < ST 3T 20% TE ST B A< ITH
g 30% SE SITAT g, AT STehl AT od=d |

Tiaera gl AT FHT FATT T

(A) 3.4 % increase (B) 3.4
% decrease

(C) 3.33% increase )
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In a factory, 48% of the number of
male workers is equal to two-third of
the number of female workers. What is
the ratio of the number of males to that
of the female in the factory?
T HILETT |, & FTAH] Sl G&AT HT
48% TR ST Y gear F a1-faer *
T g FILETH H TEUT hl AT FT
qiZaett it =T q AT FAT &7
(A) 25 : 12 (B) 12 : 25 (C) 18 :
25 (D)25:18

(SSC CGL PRE 2023)
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In a certain year, the population of a city
was 18000. If in the next year, the
population of males increased by 5% and
that of females increased by 7%, and the
total population increased to 19200, then
what was the ratio of the populations of
males and females in that given year?

T fAfsra o 4, e a8 H s=aear 18000
7| TfR 3T 9, Waﬁrmﬂwﬁs%aﬁr

i g= M AT T FeeeaT & 7% H
gfE §S, AT T STEEAT T8H< 19200 Y TE,

a‘rwwmwaﬁﬁwwm
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John got 20% marks in an examination and
failed by 10 marks. In the same
examination, Jack got 35% marks which
were 20 more than the minimum passing
marks. Find the percentage of minimum
marks required to pass.

ST T Tk 98T J 20% 3t et ik 98 10
3R O STTHSA BT TATI ST TO&T H, ST Hl
35% s Tt ST =Aaw <ot 3t & 20 STfeeh
| AT I o (TT AL ~LATH Shi T
giaera FTa hitorol

(A) 30 (B) 35 (C) 25
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Rima spends 35% of her monthly income
on food articles and 15% of the remaining
on clothes. She saves 40% of the remaining
income. If her monthly salary is Rs 27,500,
how much does she save (in Rs) every
month?

ST T /T T T 35% QT URTAT U
T AT FT 15% FIST I G LT gl TE AW
T HT 40% TATAT g1 TTQ STHT ATTH ad
27,500 TG g, AT 98 8 Hald foha+l a9d
FLAT g (T H)?

(A)6077.5 (B)6170.5 (C)6277.5
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In the first month, the income of Mohan
increases by 30%. In the second month
his income decreases by 30%. What will
be percentage increase or decrease in
the income after two months?

gt § Mg i 3T 30% g ST g
AL Agiq A STt 3T 30% FH BT AT B
< Halq & dT1 o | o wfasera g ar
Y BIMT?
(A)15% increase
(B)9% increase
(C)15% decreases
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In a constituency, 90% of the total number of
people on the electoral roll cast their votes
during an election, 15% of the votes cast were
declared invalid. Jeeta secured 60% of the valid
votes. If jeeta secured 91,800 valid votes, what
was the total number of people on the electoral
roll?

T Mat=d &= |, 19 & 0 qaarar gt d
TS T AN H F 90% A T STAT, ST TT 15%
e ALY T FL T TC SAT A 60% T4 e
A< g Sshar 1 91,800 J4r Aie A<, QT wa=TAT
AT § T AN hl AT T AT?

(A) 2,16,000 (B) 2,25,000 (C) 1,80,000 (D)

2 00.000
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Out of two numbers, 20 percent of the smaller
number is equal to 14 percent of the larger
number. If the sum of both the numbers is
8942, then what is the value of the larger
number?

T AT | | St G&AT F1 20 TA9qd, TT €T
% 14 AT & TEAL gl Ii< AT G&AT3N FT I
8942 g, Y SST TEAT Tl HIT FAT g7

(A) 4920 (B)5260 (C)5040 (D) 5160
(SSC CHSL PRE
2022)



If 20 percent of P is added to 40 perce of Q,
then the resultant comes as 80 percent of Q. P is
what percentage of Q?

gfe Q F 40 gfdera & P =1 20 wiaea siig f*4m simg,
v qioTH Q T 80 wiaera mar gl P, Q & faha=m

giaera g7
(A) 125 percent (B) 200 percent (C) 225 percent
(D) 150 percent (SSC

CHSL PRE 2022)
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gfe Q F 40 gfdera & P =1 20 wiaea siig f*4m simg,
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The price of a commodity is decreased 0}
25 percent and therefore a household
increased the consumption of that
commodity by 20 kg to keep the
expenditure same. What was the earlier
consumption?

et a=q T FHHa 25 TiAea F9 31 ATt g

WW@W#W&%WT@%%

forT S& a&g i @ 20 fHuTH &7 <11 I8

guq fohadt of?

(A) 60 kg (B) 55 kg (C) 75 kg (D) 45 kg
(SSC CHSL PRE
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The population of a town is 8000. It increases by
10% during first year and by 20% during second
year. The population after 2 years will be

Teh el st STEeaT 8000 Bl I8 T8 a9
2 10% 3T L AW & a1 20% € STl
gl 2 9 9TE TTAEEAT gl

(A) 10560 (B)12350

(C)10400  (D)NOT
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A man spends 28% of his salary on food.
From the remaining he spent 1/6% on rent and
sends 3/8th to his mother. If he left with Rs.
5280, what amount he sends to his mother.
T SMEHT (I A FT 28% HISH 9L G HdT
gl AT H § I 1/6 9T fFF I @ FXam g 3}
3/8 wman?ﬁma?rﬁwél gfe ag T 5280
SETSC L Wﬁﬁ%ﬂ'ﬁ‘rﬁmﬁﬁﬁﬁl‘rﬁﬂﬁ
HOITT?
(A) Rs. 8230 (B)Rs. 8640 (C)Rs. 9580
(D) Rs. 4320










